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130100|72 W2 A et 9,705
1301002V A JbimE 1,490 1,490 10 1,620 1,080
130100|72 W2 A 7% 8,175 8,175 10 1,728 864
130340[#ICA LA e 6,820
130340[#IcA LA FE 4,250 4,250 10 3,024 1,512
130340[#ICA LA R 1,490 1,490 10 2,398 1,210
130400(Z1F 5 et 1,244
130400(Z1% 5 7% 940 0 940[ 10 3,564 1,566
1306001 A Z A et 355
1306001 A Z A = 355 0 330 1 2,268 1,080
131100{H 3 et 37,575
131100({H 3 R 37,575 0| 37,575 15 2,700 864
131700(%F v et 34,764
131700|F + R A 10,520 0 7,490 10 1,728 756
131700|F v R FE 16,764 0| 16,764 12 1,302 648
131800(1F 5 N A E e 505
131800(1F 5 A E L 320 295 25 0.2 149 98
131910(Fh & e 1,276
131910(Fh & PN 12 0 12| 0.045 63 62
131910(Fh & B[] 170 0 170 1 810 702
131910(Fh & ) 503 0 503| 10 3,024 2,592
131910(Fh & TiE 515 0 500[ 10 3,240 3,024
131950(B & et 770
131950|H A & SER 560 0 450 3 1,620 972




133400|L % & ¥ 17,640

133400 L % X g 17,640 0] 14,860 10 1,728 540
134100|8A/X ¥ 14,397

134100|8AM h¥= 2,990 0 2,940 5 1,296 702
134100|8A/K &I 1,985 0 1,960 5 1,458 756
134100 (%A K i 3,845 0 3,845 5 1,512 864
134100|8A/K =N 300 0 300 5 1,404

134100 (#A K = IR 3,600 0 3,300 5 1,512 756
134200|F /M T3 170

134200|m /X XF O 170 0 170 10 2,808 2,484
134300|50F ¥ 5,753

134300(71F BE 939 939 2 1,188 540
134300|50F =N 3,607 3,253 0.3 140 119
134300(71F =1 684 661 0.3 173 157
134400 b~ b ¥ 6,337

134400| k< b 5B 3,189 3,113 2,160 972
134400 b~ b R 1,083 1,083 1,728 1,404
134400| k< b R 1,915 1,915 1,728 1,080
134500 "=~ ~ ¥ 10,738

134500 &' —~ >~ = 405 405 0.15 54 43
134500 "—~ ~ PN 4,681 4,681 0.15 76 65
134500 &' —~ > =y 4,273 4,273 0.13 43 32
134700(&> A2 L ¥ 4,555

134700158 A2 L K& 3,675 0 3,675 5 1,566 1,080
135300|— X ¥ 84

135300 &"— X & 84 0 84 4 3,780 1,296
135500|2 722 ¥ 382

135500( 2722 Iz 2 382 0 360 0.18 184 108
136100|HA L & ¥ 5,895

136100(AA L & I 4,770 0 4,770 5 1,728 540




136100|HA L & 715 715 5 1,836 324
136100(AA L & 10 10 5 3,456

136200| & 1,940

136200|E 5% 1,940 1,940 10 4,277 1,674
136210| X —27 4 >~ 4,790

136210( X —7 1 ~ 4,740 4,740 10 4,752 1,728
136300|8F 230

136300|2F 230 220 2 1,728 756
136600|7- & 16,615

136600|7z & 15,735 15,505 10 3,456 864
138100|& L Wizl 852

138100|% L W7z 1T 140 140 0.1 70

138100 L Wizl 656 650 0.2 238 92
138500(L® LE 902

138500| L& LE 889 518 0.2 79 70
139200| 5 & 714

1392007 & 714 714 10 9,720 3,240
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240110|/\ 7RI DA |HEK 610
240110|/N7 ZHA DA AL 610 0 610 4 7,560 5,616
242320|¥ 33— L F | 500
242320|¥ 3+ 3— K | BH 500 0 450 10 5,184 4,320
242830|3 LW A e 3,700
242830|5 LW AT & 3,700 0 2,550| 10 7,020 3,780
243950| U [y 134
243950| b R 134 97 37| 0.45 432 378 410 378
244200|Fh4%EH b iy 536
244200\ 4% H 6 AL 536 0 536 4 5,400 2,700
244530 H b iy 1,623
244530(F v b AL 1,256 0 1,256| 0.5 389 281
244530 H b f&hd 320 0 320 1.6 1,642 1,598
244750|5 & 5 e 362
244750655 & 5 11} 362 0 362 0.2 594
2452201777 = T HE 274
2452201757 = 7 KR 136 0 100 0.3 486 378
245230|BEI£.30E S HE 170
245230 BN E S &6 170 0 140 1.2 3,024 2,592
24600016 & HE 736
246000|L\B & & 134 100 34| 0.25 410 216 594 486
24600016 & &I 192 0 144  0.25 378 162
246000|L\B & RI& 411 0 385 0.25 486 173
247100| 7 — L2 X O |## 574




247100|7 —/Lx A B> | E#E 294 294 9 10,800 6,480
247100| 77— X A B Y | &H 280 280 9 8,640 2,160
2474917 A > & — X O ANHB# 145

247491104 v —Xx 0] KRG 145 120 25 5 3,456 3,024 3,024
247568|%AH I XA T3 2,690

247568| %K I XA v B/ 2,690 0 2,170 5 2,808 1,728
248800|Z 7= £ A/ T3 3,690

248800| = /= £/ Rl 540 0 290 10 3,564 3,240




